Two trains leave a station and travel for the same amount of time. The first

train travels to Chicago, 480 miles away. The second train travels 5 mph Solve.
faster and travels to Pittsburgh, 510 miles away. Find the speed at which _4 " If you got x=-2 then
each train has traveled. d = rt = = all of your work is correct
=rt]—— {- 5% S0 o2 .
0 hod to solve i
140 = 510 e
'S +5
now cross-multiply and solve 2 (SX-HD) - _Ll (K +1> -21is NOT the solution!
4FOr + Lon= Sior 0% +20 = -Hx-¥
“Hhor —Ydor +4 ¥ s
+720 = —&
}YOO = 7)0( qu — 705 - 2.0
30 30 ' od
Speed to Chicago = r = 80 mph ViX =7 27
Sp ’ g = %O T4 /4
eed to Pittsburgh = r + 5 = 85 mph
p ¢) p X =-2_
Steps to follow when solving equations (Extraneous Solutions]
1. Blah, Blah, Blah Solve.
2. Blah, Blah, Blah -4  _ _2 — o -
: ’ ’ = X = -2 is an extraneous solution
. %=t=.10 a2 because it makes the equation
: undefined!

Last Step: Check your answers!!!! This equation has NO solution
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Problems similar to "book" problems

2x+8 7 _ . D
Y "
x-—16 —-x—4 x—4
It's easier to work with a positive coefficient of x. To accomplish this you can multiply
this ratio by -1/-1:
2x+8 _ T - _
2 % -— -
x*-16 @ —~x-4 -l x—4
—7 D Now you can finish solving this equation the way
you normally would.
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It's easier to work with a positive coefficient of x. To accomplish this you can multiply
this ratio by -1/-1:
=] s _ 8
o B - . I3
-l 5—x 25  x+5

4'\ — x — Now you can finish solving this equation the way
X == you normally would.




